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Objections to Ricardian Equivalence

• People don’t understand deficits.
• We have passed the debt to our children.
• This means we never need to tax.
• Incentive Effects.
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The General Theorem

A general theorem: 
models built on the 

assumption that people 
are stupid just don’t work.
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• We reduce investment to finance the deficit, 
and hence reduce the capital available for 
future generations.

• For this to happen, there must be a 
differential impact on the demand for loans.
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But is there a bequest 
motive? And is it 
universal? Are 
consumers like 

immortal consumers?  
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If there is a difference 
between borrowing 
and taxing – which 

there may well be – it 
is small.
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